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BB B o8 = 7 [ ] 7 I
16.7.11 St A
(e X) | 153,657 75,402 78,255\ 81,412| 40,284 41,128| 52.98 53.43| 52.56
(e 5] 1% 52) | 153,756 75,466 78,290[ 81,433| 40,297| 41,136/ 52.96 53.40] 52.54
17. 4.10 il E 151,411 73,969| 77,442l 43,702| 21,136] 22,566[ 28.86 28.57 29.14
17.7.3 B =% 151,328| 73,889 77,439| 37,069| 18,499 18,570 24.50 25.04] 23.98
17.9.11 Heimbias B
U332 X) | 154,260 75,478| 78,782| 100,141| 48,449| 51,692 64.92 64.19] 65.61
(e ] 1% 3%) | 154,362| 75,544 78,818| 100,141| 48,443| 51,698| 64.87 64.13]  65.59
19.4.8 FESikE 152,574 74,377| 78,197| 64,521| 30,783| 33,738 42.29 41.39 43.14
19.4.22 MEa#ER 152,490 74,317| 78,173|| 71,267 33,606| 37,661 46.74 45.22 48.18
19.7.29 St AR
(e 2sX) | 155,710 76,078| 79,632| 85,869 42,176 43,693| 55.15 55.44|  54.87
(b i 1% 32) | 155,710 76,078 79,632| 85,864| 42,173| 43,691 55.14 55.43] 54.87
21.4.12 i 5 (i 5 22)
21.7.5 2N o 154,186| 75,110 79,076| 49,248| 24,263 24,985 31.94 32.30] 31.60
21.8.30 Heimbias B
U2 X) | 157,077| 176,703 80,374l 102,615| 50,401| 52,214| 65.33 65.71 64.96
(tk # f% 52) | 157,077] 76,703| 80,374l 102,595 50,387| 52,208|| 65.32 65.69] 64.96
22.7.11 St AR
(FJERE2EIX) | 157,745 76,935| 80,810/ 86,303 42,821 43,482 54.71 55.66] 53.81
(th 7 £ 32) | 157,745] 76,935 80,810| 86,296 42,814| 43,482 54.71 55.65| 53.81
23.4.10 Hae e n 155,549 75,535| 80,014| 65,640 31,474| 34,166[ 42.20 41.67  42.70
23.4.24 DiE 2t 3= 155,417 175,462| 79,955| 68,538| 32,508| 36,030 44.10 43.08 45.06
24.12.16 bt g
U332 X) | 158,462 77,041 81,421 91,243 45,467| 45,776 57.58 59.02| 56.22
(e 1% 32) | 158,462 77,041 81,421| 91,234| 45,462| 45,772 57.57 59.01 56.22
25.4.14 il 5 156,434| 75,819 80,615|| 65,577 31,292 34,285[ 41.92 41.27  42.53
n M Em x| 156,434 75,819| 80,615/ 65,523| 31,263| 34,260 41.89 41.23 42.50
25.7.21 St A
(FJERE2EX) | 159,201 77,358| 81,843| 81,474| 40,679 40,795 51.18 52.59| 49.85
(th £ 32) | 159,201 77,358| 81,843| 81,464 40,669| 40,795 51.17 52.57| 49.85
” B = 157,392| 76,365| 81,027|| 81,286 40,575 40,711 51.65 53.13 50.24
26.12.14 Rerkbink B
U2 X) | 159,810 77,428 82,382 79,897| 39,817| 40,080/ 49.99 51.42| 48.65
(e ] 1% 52) | 159,810 77,428 82,382 79,899| 39,819| 40,080/ 50.00 51.43| 48.65
27.4.12 Hae e n 157,410 75,963| 81,447|| 64,901 31,028| 33,873 41.23 40.85|  41.59
27.4.26 DiE 2 3= 157,328 175,928| 81,400\ 67,379 31,871| 35,508 42.83 41.98 43.62
28.17.10 Sk B
(T ESEEX) | 164,894 79,952 84,942| 87,281 42,790 44,491 52.93 53.52] 52.38
(e ] 1% 3%) | 164,894| 79,952 84,942 87,257| 42,779| 44,478| 52.92 53.51 52.36
29.4.16 il E (JE 33 1)
29.7. 2 B & 162,584| 78,497 84,087 58,717| 28,845 29,872 36.11 36.75| 35.53
29.10.22 Rekbink B
U2 X) | 165,432| 80,011 85421f 77,244 38,146] 39,098/ 46.69 47.68| 45.77
(th £ 3%) | 165,432] 80,011 85,421| 77,237| 38,141| 39,096/ 46.69 4767  45.77
31.4.7 Hze e n 164,390 179,238| 85,152|| 65,987| 31,293| 34,694 40.14 39.49( 40.74
31.4.21 DiE 2 3= 164,230 79,138| 85,092| 66,334| 31,229| 35,105 40.39 39.46 41.26
01.7.21 Sikbiig B
(mE g2 X) | 166,957 80,603| 86,354| 79,084 38,821 40,263| 47.37 48.16]  46.63
(tk 7 f% 52) | 166,957| 80,603| 86,354f 79,074| 38,814| 40,260 47.36 48.15|  46.62
03.4.11 il E 164,940| 79,342 85,598|| 56,816] 26,849 29,967 34.45 33.84| 35.01
03.7. 18 B & 165,339| 79,501 85,838|| 57,931| 28,093 29,838l 35.04 35.34|  34.76
03.10.31 Rekbink B
(h %2 X) | 167,397| 80,666 86,731| 89,615| 43,175| 46,440 53.53 53.52| 53.54
Gk g (&) | 167.397] 80.666] 86.731|[ 89.594]| 43.167) 46,427 53.52 53.51 53.53

17— 2. Righbigai®EsE (EHRER) 1281 2w RIS ZEEL
<4Fn 34 (20214) 10H 31 H#HIT>

A R HEEES A T 2 ECE
O 2,652 3.01|lF & & E 4,659 5.29
E R £ & 2,528 2.87((F A& # # o = 28,462 32.30
& OROEF R 13,365 15.17|INHK & # ¥ L T % 3% 1.9207 137
= 2 B OFE 1,049 11950 # k724 E K C ’ ‘
7N ] 3t 10,840 2ol
H B K £ % 23.348 26.50 H 88.110 100.00
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